SLS DAV PUBLIC SCHOOL, MAUSAM VIHAR
SAMPLE QUESTION PAPER

TERM 1
ENGLISH COMMUNICATIVE(101)
Class IX
Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

Read the following instructions very carefully and strictly follow them:

1. This question paper has 10 questions. All questions are compulsory.

2. This question paper contains three sections:

Section A: Reading Skills

Section B: Writing Skills

Section C: Grammar

Section D: Literature Textbook

3. Attempt all questions based on specific instructions for each part. Write the correct
question number and part thereof in your answer sheet.

4. Separate instructions are given with each question/part, wherever necessary.
5. Adhere to the prescribed word limit while answering the questions.

SECTION A: READING SKILLS (20 marks)

1.Read the text carefully and answer the questions: (1x10=10)

1.

In the digital age, mobile phones have become an integral part of daily life. While they
provide numerous benefits, their excessive use has led to addiction, particularly among the
youth. This addiction affects various aspects of a young person’s life, including mental
health, academics, and social interactions.

Mobile addiction refers to the compulsive use of smartphones, often leading to over-
dependence. Studies show that youth spend an average of 6—8 hours daily on their devices,
engaging in activities like gaming, social media, or watching videos. While these activities
may seem harmless initially, they can create behavioral changes over time.

One of the most severe effects of mobile addiction is on mental health. Constant exposure
to screens leads to issues like anxiety, depression, and insomnia. Social media platforms, in
particular, create a false sense of reality, leading to low self-esteem among users who
compare themselves to unrealistic portrayals of others’ lives.

Academics also suffer due to mobile addiction. Instead of focusing on studies, students
often spend hours scrolling through apps, reducing their productivity. Over time, this
hampers academic performance, leading to stress and lower grades.

Physical health is another area of concern. Prolonged mobile use can cause eye strain,
headaches, and even a condition known as “text neck,” resulting from poor posture while
looking down at devices. Moreover, mobile addiction often replaces physical activities,
leading to a sedentary lifestyle that increases the risk of obesity and related diseases.

The social impact of mobile addiction is equally significant. Youth often prefer virtual
interactions over face-to-face conversations, weakening interpersonal skills. This reduces
their ability to form meaningful relationships and causes feelings of isolation.



7. Parents and educators have a crucial role in addressing this issue. Encouraging offline
activities like sports, reading, or creative hobbies can help reduce mobile dependency.
Setting screen-time limits and promoting family time without devices are effective
strategies as well.

8. Mobile addiction is a growing concern that affects the youth’s mental, physical, and social
well-being. Addressing this issue requires collective efforts from individuals, families, and
society to create a balanced and healthy relationship with technology.

1. Identify the key term that describes the compulsive need to use smartphones.

(a) Addiction

(b) Creativity

(c) Flexibility

(d) Productivity

2. Choose the average time youth reportedly spend on mobile devices daily from the following
options.

(a) 4-6 hours

(b) 6-8 hours

(c) 8-10 hours

(d) 10-12 hours

3. Select the pair of mental health issues linked to excessive mobile use.
(a) Depression and anxiety

(b) Insomnia and focus

(c) Energy and engagement

(d) Curiosity and confidence

4. Identify the academic consequence of mobile overuse from the options below.
(a) Improved grades

(b) Enhanced focus

(¢) Reduced productivity

(d) Increased enthusiasm

5. Assertion (A): Mobile addiction can lead to “text neck.”

Reason (R): Poor posture from prolonged device use causes strain on the neck.
(a) Both A and R are true, and R explains A.

(b) Both A and R are true, but R does not explain A.

(c) A is true, but R 1is false.

(d) A 1s false, but R is true.

6. Classify the following as a Fact (F) or Opinion (O):
Excessive screen time leads to insomnia.
Social media platforms are more harmful than helpful.

7. Choose the most significant social effect of mobile addiction.



(a) Strengthened interpersonal skills

(b) Preference for virtual communication
(¢) Increased social bonding

(d) Improved teamwork

8. Identify the strategy parents can use to address mobile addiction.
(a) Encourage binge-watching

(b) Promote offline activities

(c) Ignore mobile usage habits

(d) Increase screen time

9. Select the word from the passage that indicates the same as "excessive reliance."
(a) Addiction

(b) Productivity

(c) Performance

(d) Isolation

10. Identify the effect of mobile addiction NOT mentioned as harmful in the passage.
(a) Better physical health

(b) Eye strain

(¢) Insomnia

(d) Poor posture

2. Read the text carefully and answer the questions: (1x10=10)

1.

Health: A Pathway to Well-Being

Health is the cornerstone of a fulfilling and productive life, encompassing more than just
the absence of illness. It is defined as a state of complete physical, mental, and social well-
being, enabling individuals to thrive in various aspects of life. Achieving good health
requires a proactive approach, including regular physical activity, a balanced diet rich in
essential nutrients, and adequate sleep to rejuvenate the body and mind. Despite this, the
modern era presents significant challenges, such as sedentary lifestyles and unhealthy
eating habits. These factors have contributed to the rise of lifestyle-related diseases like
obesity, diabetes, and hypertension, which strain both personal and public health systems.
Mental health, an integral component of overall health, is often overlooked, even though it
profoundly impacts an individual's quality of life. Stress, anxiety, and depression are
increasingly prevalent due to the relentless pace of modern living. Ignoring mental health
can lead to severe consequences, including diminished productivity, emotional instability,
and strained interpersonal relationships. It is essential to break the stigma surrounding
mental health and seek professional help when necessary. Practices such as mindfulness,
meditation, and spending time in nature can significantly enhance mental well-being,
offering individuals a sense of peace and balance.

. Public health initiatives play a pivotal role in fostering healthier communities. Campaigns

for vaccination, programs ensuring access to clean drinking water, and education on
hygiene are examples of measures that significantly improve communal health standards.
Governments bear the responsibility of creating policies and allocating resources to make



healthcare accessible to all. Simultaneously, individuals must contribute by adopting
healthier practices and supporting community health programs. This shared commitment
reinforces the idea that health is not just an individual concern but a collective
responsibility.

. By prioritizing physical and mental well-being and participating in public health initiatives,
we can create a society that values and promotes health for all. A healthier population is a
happier, more productive, and resilient one, capable of addressing challenges and achieving

shared goals.
1. Select the most suitable definition of "health" from the passage:
(a) Absence of illness
(b) Physical and mental well-being only
(c) A state of complete well-being
(d) Eating healthy food

2. Identify the key components essential for maintaining good health:
(a) Regular exercise, balanced diet, and adequate sleep

(b) Eating junk food and working late hours

(c) Avoiding physical activity

(d) Skipping meals and sleeping less

3. Pick the factor that has led to an increase in lifestyle-related diseases:
(a) Healthy eating habits

(b) Sedentary lifestyles and unhealthy diets

(c) Regular exercise

(d) Access to clean drinking water

4. Choose the aspect of health that often receives less attention:
(a) Physical health

(b) Financial health

(c) Mental health

(d) Social health

5. Identify the word that most nearly means "productive" as used in the passage:
(a) Efficient

(b) Sedentary

(c) Collective

(d) Unhealthy

6. Assertion (A): Mental health plays a vital role in the overall well-being of an individual.

Reason (R): Ignoring mental health can lead to productivity loss, emotional instability, and

strained relationships.

(a) Both A and R are true, and R explains A.

(b) Both A and R are true, but R does not explain A.
(c) A is true, but R is false.

(d) A is false, but R is true.



7. Classify the following as Fact (F) or Opinion (O):
Access to clean drinking water significantly reduces public health issues.
Sedentary lifestyles are more harmful than unhealthy diets.

8. Which practice is analogous to public health initiatives that encourage physical well-being?
(a) A team working together to achieve a common goal.

(b) A student studying alone for an exam.

(c) An artist painting a picture without a plan.

(d) A business operating without clear communication.

9. Select the outcome of ignoring mental health from the passage:
(a) Increased physical fitness

(b) Improved productivity

(c) Emotional instability and strained relationships

(d) Enhanced academic performance

10. Choose the main reason why health is considered a collective responsibility:
(a) It affects only the individual.

(b) It creates a happier, more productive society.

(c) It reduces government expenses.

(d) It benefits only specific groups

SECTION B: WRITING SKILLS (24 marks)
3. As the Sports Captain of your school, draft a notice in about 50 words announcing the
upcoming Annual Sports Day. Invent all necessary details and an invitation for student
volunteers to assist in organizing the event

C))

4. Write a dialogue between Tanya andRohanwho have just conducted the school morning
assembly. They reflect on what they learned from the experience.They discuss what they
learnt from the experience.

5.Write a letter to your friend Sameer/Sameera telling him/her about a documentary you
recently saw in your English class on the life of SaalumaradaThimmakka, the
environmentalist from Karnataka who planted over 8000 trees. Mention how the story inspired
you and what lessons you’ve drawn from it.
(7)
Hints:
« Self-initiated plantation drive
« Faced poverty but didn’t give up
o Trees treated like her children
o Lesson: One person can make a big difference
OR



Write a letter to your friend describing an adventurous trip you recently went on. Tell them
where you went, with whom, and what you did. Mention any surprising or dangerous
moments, how you felt during the journey, and what you learned from the experience.

6.Write a descriptive paragraph on the topic: “Save the Tiger, Save the Planet” in about 150
words. Use the given Verbal Cues: Taking ideas from your English MCB book Unit
‘Environment’ 8)

« Tigers maintain balance in forest ecosystems

o Their extinction disrupts the food chain

« Human encroachment and poaching are key threats

« Need for awareness and conservation

OR

Write a descriptive paragraph based on your understanding of people from stories and real life,
describing qualities that make a person truly great. Is it wealth, kindness, courage, or honesty?
Support your answer with examples. Taking ideas from your English MCB book Unit 1
‘People’

SECTION C: GRAMMAR (10 marks)

7.A Complete the passage with appropriate verb forms: (1x3=3)
“Last summer, during our school trek, we (a) (start) early in the morning.
Suddenly, we (b) (hear) a rumble and realized a rockslide (c) (be)
approaching. Thankfully, our guide had warned us in time.”
B.In the passage given below, one word has been omitted in each line. Identify the missing
word and write it along with the word before and after it.

(1x4=4)

Before  Missing After
The role women in the societyisvery eg. role ~  of =~ women
important. Women's education is key (a)
to a life the future. A recent World Bank(b)
study says educating girls is not a (©)
charity. It is economics and if developing (d)
nations are to eradicate poverty; they must educate girls.

C 1.Rearrange the following jumbled words/phrases to create a meaningful sentence: (1x3=3)
pollution / to / leads / burning / health issues / garbage / severe

i1. Read the conversation given below. Based on your reading, fill in the blanks appropriately:
Father: Tomorrow we have guests, so | am going to the store to buy groceries.

Son: Should I come along, father?

Father: No, [ want you to tidy up the living room.

Son: Fine, I will stay at home and clean the living room.

The father told his son that (a) . The son asked if he could come along with him. To this,
the father replied (b) .



SECTIOND: LITERATURE(26 marks)
10. Read the given excerpts and answer the questions briefly, for ANY TWO excerpts, of
the three given: (4+4=8)
A. “Alone she cuts and binds the grain,
And sings a melancholy strain;
O listen! for the Vale profound
Is overflowing with the sound”
1. What task is the girl performing?
2. In the line “Vale profound is overflowing with the sound,” what poetic device makes
nature seem alive and responsive. Justify.
3. Explain the phrase “Vale profound is overflowing with the sound”.
4. If the reaper’s song is described as a “melancholy strain” what is the tone and mood of
the poet?
B. “We had him for a lesson on musketry. The Sergeant had barely started when Quelch
interrupted.”
1. What was the subject of the lesson being conducted?
2. What tone does the narrator use in saying “had barely started when Quelch
interrupted”, and what does it imply?
3. Which quality of Quelch is ironically highlighted by his interruption during a session
meant for learning?
4. How does Quelch's interruption act as a subtle form of challenge to the Sergeant’s
authority?
C.“What on earth have you done?
I? Made a hundred thousand francs and a carot!
How?
I’ll tell you later”.
1. What does the dramatic jump from confusion to profit in the dialogue reveal about the
speaker’s tone?
2. How did Gaston manage to sell the villa without owning it?
3. Which dramatic device is used in this sudden revelation of success, followed by a
refusal to explain?
4. What does this reveal about Gaston’s character?
9. Answer ANY FIVE of the following questions in about 30-40 words each. (2x5=10)
a) Elaborate on the emotional impact that missing the story had on the grandmother and how it
sparked her determination.
b) Elucidate how the refrain ‘For men may come and men may go, but I go on forever’
captures the essence of the brook’s immortality.
c¢) How did Duke’s rambunctiousness brought about a miraculous recovery in his master,
Hooper?
d) The poem 'The Road Not Taken' establishes a connection with the human situation. Do you
agree? Give a reasoned answer.
e) Explain how Guitry uses irony in Juliette’s remark, ‘I’m beginning to think the whole thing
was going to be much more of a sell than a sale,” to highlight the disparity between her
expectations and reality.”



f) What is the poet’s intent in comparing the reaper’s song with the song of the nightingale and
the cuckoo?
10. Answer ANY ONE of the following two questions in about 120 words: 8
A True companionship and loyalty can bring about miracles in life. How does the story "A
Dog Named Duke" highlight this value through the bond between Chuck and Duke?

OR
B. Both the narrator in “The Road Not Taken” and the grandmother in “How I Taught My
Grandmother to Read” choose paths that require effort and conviction. How do their decisions
inspire us to make bold choices in life?

SLS DAV PUBLIC SCHOOL
SAMPLE PAPER TERM 1 (2025-26)
CLASS-IX
MATHEMATICS
Time: 3 hrs Max.Marks: 80

General Instructions:

1. This question paper has 5 sections A,B,C,D,E.

Section A has 20 MCQs carrying 1 mark each.

Section B has 5 questions carrying 2 marks each.

Section C has 6 questions carrying 3 marks each.

Section D has 4 questions carrying 5 marks each.

Section E has 3 case based integrated units of assessment(4 marks Teach)with

sub parts of the value of 1,1, and 2 marks each respectively.

7. All questions are compulsory.However,an internal choice in 2 questions of 5
marks,2 questions of 3 marks,and 2 questions of 2 marks has been provided.An
internal choice has been provided in the 2 marks questions of section E.

8. Draw neat figures wherever required.

AN S

SECTION A

L. The value of i/? 1

(A) 25 (B) 27 (C) 8 (D) 25




2. | How many rational numbers are there in between two irrational
numbers?
(A)O B) 1 (©) 10 (D) more than 10

3. | If zeroes of p(x) = x? + 2ax + c are reciprocal of one another then ¢
is
(A)2 (B)0 (€)-1 (D) 1

4. |If triangles ABC and PQR are congruent in which AB = PQ, AC =
PR and 4B and «Q are both right angles, then the triangles are
congruent by:
(A) SSS (B) SAS (C) RHS (D) ASA

5. | Number of zero(es) of r(x) = 5 1s/are
(A)2 (B)0 €3 (D)1

6. | The standard form of the linear equation 6 — 3x= Sy is :
(A)3x—-6=1>5y B)-3x-5y+6=0
(C)3x+5y+6=0 (D)3x+5y-6=0

7. | If linear equation 12x - ay = 6 has one solution as (4,3), then value of
a is:
(A) 11 (B) 12 (O)13 (D) 14

8. | The axis which is vertical in the Cartesian plane is
(A) z-axis (B) x-axis (C) y-axis (D) Quadrant

9. | Consider the map of India as the cartesian plane with Indore as the
origin, write in which quadrant will the city of Jaipur lie.

(A) I'quadrant (B) IT quadrant (C) III quadrant (D) IV
Quadrant
10. | If a point lies equally distant from both the axes then, which of the

following could be its coordinates?
(A)(3,2) (B)(2,2) C)(3.2) D) (2,-1)




11. | If angles with measure x and y form a complementary pair, then
angles with which of the following measures will form a
supplementary pair:

(A) (x +47),(y+43) (B) (x -23°),(y +23°)

(C) (x-43).(y- 47°) (D)(x - 47),(y+43)
12. | The area of an equilateral triangle with side 6 cm is

(A) 18V3 cm? (B)9V3 cm?
(C)6V3 cm?  (D)12V3 cm?
13. | Mirror image of (9,-8) with respect to y — axis 1is:
14. 1 In triangles ABC and P R, AB=AC, £.C= 4P and «B = £Q. The
g

two triangles are:

(A) Isosceles and congruent. (B) Isosceles but not congruent

(C) Congruent but not isosceles. (D) Neither congruent nor isosceles

15. | Preet is double the age of Mohan. Ram is also double the age of
Mohan. The Euclid axiom which illustrates the age of Preet and Ram
1s
(A)Things which are equal to the same thing are equal to one
another.

(B)Things which are double of the same things are equal to one
another.

(C) Things which are halves of the same things are equal to one
another

(D)Things which coincide with one another are equal to one another

16. | The length:breadth:height of the bricks used for construction in Indus
Valley Civilization has been found to be
(A) 6:2:1 (B)6:3:1 (C) 5:4:2 (D) 4:2:1

17. | The three steps from solids to points are:

(A) Lines — points — surfaces — solids
(B) Lines — surfaces — points — solids
(C) Solids — lines — surfaces — points
(D) Solids — surfaces — lines — points




18. | In the given figure ,ABC is an isosceles triangle whose side AC is 1
produced to E. Through C,CD is drawn parallel to BA. The value of
X is:-

(A)52°  (B)76° (C)156° (D) 104°

Directions: In the following questions, a statement of assertion (A) is followed by
a statement of reason (R). Mark the correct choice as:

(A) Both assertion (A) and reason (R) are true and reason (R) is the correct
explanation of assertion (A).

(B) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A).

(C) Assertion (A) is true but reason (R) is false.

(D) Assertion (A) is false but reason (R) is true.

19. | Assertion(A) : If one angle of a triangle is equal to the sum two 1
angles, then the triangle is a right angled triangle.
Reason(R): Sum of three interior angles of a triangle is always 180°.

. : . 9 . o
20. Assertion(A): The decimal representation of 3 IS @ terminating

decimal.
Reason (R) : If a > 0 be a real number and m and n be rational
numbers, then a™ x a® = g™,

SECTION B

21. (A) Express 2.75 in the form S where p and q are non-zero | 2

integers.

OR
(B) Find two rational and two irrational numbers between
0.73 and 0.72.

22. | The age of Ram is 10 years more than the age of Shyam . Express the | 2
statement as a linear equation in two variables and find its one
solution.




23.

(A) Name 4 different types of pair of angles that are there in the
given pair of scissors.

OR

(B)In given figure, if AB || CD, find <ECD.

F

40°

24.

In the given figure ,ABC is an isosceles triangle with AB=AC and

LM is parallel to BC. If 2£A=50° then what is the measure of 2ZLMC?

25.

Find the coordinates of a point:
(1) whose ordinate is 6 and lies on the y-axis
(i1) whose abscissa is —3 and lies on the x-axis.

SECTION C

26.

If (x-3) and (x+4) are the factors of polynomial q(x) = px? + 5x +r.

find the value of p.




27.

(A) Determine the point on the graph where the linear
equation
2x + 5y = 19 intersects the axes.
OR
(B) Write the equations of two lines passing through the
point (2, -7).

28.

Find the value(s) of ‘k’ so that the factor of the quadratic polynomial
4x% —kx + 9 is (x+i).

29.

Represent V8 and V7.5 on the number line.

30.

(A)In given figure AB II DF then find the value of angle 6.

OR

(B)While playing piano Arijit Singh's daughter found that the trouble
strings of a Grand piano are parallel. When viewed from the above,
the bus strings are transversal. Find x and y in the figure given

below:

A A A
[ 1/ e
e
125 / 1200 1

A/v 4 4

31.

2v/3+5V7 n V5+V6
V5+/6 V5-vV6

Solve by rationalizing the denominator:

SECTION D




32.

(A) In the given figure, D and E are the points on the base
BC of AABC such that
BD=CE, AD = AE and 2ZADE = £ZAED. Prove that AABE =

AACD.
A

=
-

D

OR
(B) Prove that if two angles and the included side of one
triangle are equal to the two angles and the included side of
the other triangle, then the triangles are congruent.

33.

Factorise: 9x3 —3x% —5x — 1

OR
Ifx + y+ 2z =8andxy + yz + zx = 20, find the value of
x3+y3+ 23 —3xyz.

34.

If x = 3 + 22, then find the value of Vx — 1/Vx.

35.

The auto-rickshaw fare in a city is as follows :

For the first kilometre the fare is T 20 and for the subsequent distance
it is 12 per km.Taking the distance covered as x km and total fare as
Jy, write a linear equation for this information and draw its graph.

SECTION E




36

Ritesh and Sheetal are cousins and both went to mughal
garden.Before going they searched the location of their
destination.During searching,they found on map that Akbar road and
M.G road form a right angle at their intersection point and Hudson
Lane form 57° angle with MG road.

Akbar Road

Hudson Lane

57°

M.G. Road

H.M. Road
B.T. Road

(1) What is the measure of acute angle between Akbar Road and
Hudson lane?
(i1) If Ritesh is standing on M.G Road in the west direction and
Sheetal is on H.M road, what is the shortest angle they can cover in
order to meet?
(111) Find the measure of reflex angle formed between M.G Road [in
east direction] with Hudson

OR
(111)Find the supplement of angle between Hudson toad and B.T road




37.

Saumya has to reach her office every day at 10:00 am. On the way to
her office, she drops her son at school. Now, the location of
Saumya’s house, her son’s school and her office are represented by
the map below.

lunit=1km
on both axes

5 ) TSI R IR 30‘ Office

B
4
4
-

Based on this information, answer the following questions:

(1)Write the coordinates of the point O and its perpendicular
distance with respect to the x-axis.

(1) Find the value of of ordinate S — 2 x abscissa of H

(111) Find the area of the triangle formed by the coordinates of
home, school and office.

OR

Find the mirror image of the mirror image of point S.




38. | A farmer has a triangular field having sides of length 130m, 140m
and 150m.The farmer wants to fence his field all around leaving a
space Sm wide for a gate on one side. The rate of fencing it with
barbed wire is X 20 per metre. After fencing , the farmer cultivates
carrots in the field.

Based on the above information, answer the following questions:
(1) What is the type of triangular field ?
(i1)Find the semi perimeter of the field.
(1) Find the cost of fencing the field.
OR
Find the total area of the field for cultivation.

SLS DAV PUBLIC SCHOOL, MAUSAM VIHAR, DELHI
SAMPLE PAPER (2025 - 2026)
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SECTION A
HISTORY (20 marks)

1. Identify the leader of Jacobins club from the given options: (1)

a) Mirabeau




b) Maximilian Robespierre

c¢) Jean Jacques Rousseau

d) John Locke

2. Choose the incorrect statement (1)

a) John Locke refutes the divine and absolute right of the monarch.

b) Abbe Sieyes carried the idea forward proposing a form of government based on a social
contract between people and their representative.

c¢) Montesquieu proposed a division of power within the government between the
legislature executive and judiciary.

d) Mirabeau was convinced of the need to do away with the society of feudal privileges
3. Arrange the following events of the Russian Revolution in correct chronological order:
(1)
1. The bloody Sunday
i1.  Formation of Russian Democratic Party
1. Beginning of collectivization
1v.  First World War broke out
Options:

a) i, i, 1ii, iv

b) 1v, 1ii, 1, 11

¢) ii, 1, iv, il

d) iii, iv, 1, ii

4. In the question given below, there are two statements marked as Assertion (A) and (1)
Reason (R). Read the statements and choose the correct option:

ASSERTION (A): In Russia, most industries and banks were nationalized in 1917.
REASON (R): Bolsheviks were totally against the private property.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.
c) A is true but R is false.

d) A is false but R is true.

5. Mention any two features of the Constitution of 1791 drafted by the National Assembly
in France. (2)



6. Who introduced Collectivisation Programme in Russia? Why did the Russian farmers
oppose the programme? Give any two reasons.(3)

7. Critically analyse any three political and two social causes responsible for the outbreak
of the French Revolution. (5)

8. Read the following source carefully and answer the questions given below: (4)

In April 1917, the Bolshevik leader Vladimir Lenin returned to Russia from his exile. He
and the Bolsheviks had opposed the war since 1914. Now he felt it was time for soviets to
take over power. He declared that the war be brought to a close, land be transferred to the
peasants, and banks be nationalised. These three demands were Lenin’s ‘April Theses’. He
also argued that the Bolshevik Party rename itself the Communist Party to indicate its new
radical aims. Most others in the Bolshevik Party were initially surprised by the April
Theses. They thought that the time was not yet ripe for a socialist revolution and the
Provisional Government needed to be supported. But the developments of the subsequent
months changed their attitude.

8.1 Name the popular leader of the Bolshevik Party. 1

8.2 ‘Most others in Bolshevik Party were initially surprised by the April Thesis.” Give one
reason. 1

8.3 State any two demands of Lenin’s ‘April Thesis’. 2

MAP SKILL-BASED QUESTION (2 marks)
9. 1 a) Identify and Name the port city of France marked as (A) in the given map. (1)




b) Identify and Name the Central Power of First World War marked as (B) in the given
world political map. ( Y2 + %2)

SECTION B GEOGRAPHY (20 marks)
10. The standard meridian of India passing through

a) Meerut

b) Mirzapur

c) Agra

d) Dudhwa

11. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and choose the correct option: (1)

ASSERTION (A): The plain being about 2400 km long and 240 to 320 km broad, is a
densely populated physiographic division.



REASON (R): A rich soil cover combined with adequate water supply and favourable

climate it is agriculturally a productive part of India.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.
c) A istrue but R is false.

d) A is false but R is true.

12. Which among the following rivers flows through a rift valley? (1)

a) Mahanadi

b) Tapi

¢) Krishna

d) Godavari

13. The part of Himalayas laying between Satluj and Kali rivers is known as

a) Kumaon Himalayas
b) Assam Himalayas
c) Nepal Himalayas
d) Punjab Himalayas
14. Identify the river which rises in Tibet near lake Mansarovar. (1)

a) Indus

b) Ganga

¢) Krishna

d) Tapi

15. Choose the INCORRECT option from the following pairs: (1)

River Tributary
a) Godavari Purna
b) Krishna Koyana
c) Kaveri Lohit
d) Ganga Chambal

16. Write down any two major causes that has led to river pollution in India. (2)

(D

17. Name the southernmost range of Himalayas. Mention any four features of this range.

()
OR

Name the northernmost range of Himalayas. Mention any four features of this range.

18. Read the following passage and answer the questions: (4)



Apart from originating from the two major physiographic regions of India, the Himalayan
and the Peninsular rivers are different from each other in many ways. Most of the
Himalayan rivers are perennial. It means that they have water throughout the year. These
rivers receive water from rain as well as from melted snow from the lofty mountains. The
two major Himalayan rivers, the Indus and the Brahmaputra originate from the North of the
mountain ranges. They have cut through the mountains making gorges. The Himalayan
rivers have long courses from their source to the sea.

They perform intensive erosional activity in their upper courses and carry huge loads of silt
and sand. In the middle and the lower courses, these rivers form meanders, ox-bow lakes,
and many other depositional features in their floodplains. They also have well-developed
deltas.

18.1. How do the Himalayan rivers form depositional features?(1)
18.2. Why are most of the Himalayan rivers perennial? (1)
18.3. Mention any two features of the Himalayan rivers. (2)

MAP SKILL-BASED QUESTION (3 marks)
19. Locate any three of the following items on the given political map of India. (3)

a) Standard meridian of India
b) Coromondal Coast

c) Sambhar lake

d) Aravalli Range




SECTION C
POLITICAL SCIENCE (20 marks)

20. State the objective of legal framework Order that amended the constitution of Pakistan
in 2002. (1)

a) It amended its constitution for the establishment of democracy.
b) Implemented a referendum to grant a five-year extension.

c)It dismisses provisional and National assemblies.

d)Final powers rest with the military officers

21. Match column A and B and select the correct answer using the codes given below in the
list. (1)

Column A Column B
A. Federal System 1. Drafts the constitution of India
B. Constituent Assembly I1. Basic Rights guaranteed to all citizens
C. Preamble ITI. Power is divided between centres and
state
D. Fundamental Rights IV. Introductory statement in the
constitution

a) A-1,B-IV,C-II,D-III
b) A-I,B-IIL,C-I,D- IV
¢) A-IIL, B-1,C-IV,D-II
d) A-II, B-IV,C-II,D-I

22. You are a citizen of India. You want to ensure the reasons for the elections that are
considered essential for representative democracy. Which of the followingmeasures would
best be taken care by you. (1)

1. You choose who will not make laws for you

ii.  You choose who will form the government and take major decisions
ii1.  You choose parties whose policies will not guide the government
iv.  You select the independent advisor who will guide policy decisions
Options:

a) Statement ii only
b) Statement iii & 1v only



c) Statement i & ii only

a) Mahatma Gandhi

b) Sardar Patel

¢) Dr. B.R. Ambedkar

d) Nelson Mandela

24. How far is it good to have political competition? Give reasons. (2)

25. “Democracy is better than other forms of government because it allows us to correct its
own mistakes.” Explain. (2)

26. "Election Commission enjoys the same powers as the Judiciary in India". Justify. (3)

27. Why should we accept the Constitution made by the Assembly more than fifty years
ago?(5)

28. In our country, election campaigns take place for a two-week period between the
announcement of the final list of candidates and the date of polling. During this period, the
candidates contact their voters, political leaders address election meetings and political
parties mobilise their supporters. This is also the period when newspapers and television
news are full of election related stories and debates. But election campaign is not limited to
these two weeks only. Political parties start preparing for elections months before they
actually take place.

28.1. Mention any ONE activity undertaken by political parties to carry out elections. 1
28.2. List any one demerit of Electoral competitions. 1

28.3. Explain ‘Model code of Conduct’ in Election Campaigns.
2

SECTION D
ECONOMICS (20 marks)



29. There are two statements marked as Assertion(A) and Reason (R). Mark your answer as
per the codes provided below: (1)

ASSERTION (A):Unemployment leads to the wastage of human resources.

REASON (R):When people are unemployed, they cannot contribute to the production of
goods and services.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true and R is not the correct explanation of A.

c) A istrue but R is false.

d) A is false but R is true.

30. Rohit and his family members are involved in trade, transport, communication, health,
education, tourism, services, insurance. These activities are also called economic activities.

Which one of the following would be the best option that describes the various activities in
which he is engaged? (1)

a) Primary

b) Secondary

c) Tertiary

d) Both primary and secondary

31. Evaluate the impact of measures that have been taken by the government to improve
literacy conditions in India by identifying the appropriate option/s among the followings (1)

1. Opening of Navodaya Vidyalaya
2. Sarva Shiksha Abhiyan

3. Mid-day Meal Scheme

4. MGNREGA

Options:

a) 1 & 2 are correct

b) 1,2 & 3 are correct

c) 1,2,3 & 4 are correct

d) Only option 4 is correct

32. Identify the statement that is true about the Election Commission.

a) It is controlled by the ruling party.

b) It conducts elections in only urban areas.

c) It ensures free and fair elections in the country.
d) It is headed by the President.

33. Identify the term that best describes:

I. Underemployment in rural areas

II. People appear employed but do not contribute effectively to output (1)
a) Seasonal unemployment



b) Disguised unemployment
¢) Structural unemployment

d) Educated unemployment
34. Study the graph given below and choose the correct option: (1)
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(Source: Economics, NCERT)

a) The literacy rate of women was lowest in 1971

b) Literacy rates among males can be seen highest in the year 1981
c) Total literacy rate was highest in 2011

d) Literacy rate increased from 19% in 1951 to 78% approx. in 2017

35. Analyze the role of Education in human capital formation. (3)
36. Distinguish between market and non-market activities along with relevant examples.(3)

37. ‘Women in India are usually employed in low paid jobs.” Support this statement with
three suitable arguments. (3)

38. Elucidate the term unemployment with reference to rural and urban areas.(5)
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General Instructions:

(i)  This question paper consists of 39 questions in 3 sections. Section A is
Biology, Section B is Chemistry and Section C is Physics.

(i) All questions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.



Section - A

Mark

The diagram shows an animal cell with some of its organelles. X is also a cell organelle-

A. Nucleus

B. Chromosomes

C. Golgi Apparatus

D. Endoplasmic Rectilium

nucleus

> >

amoeba food particle plasma membrane

Which of these properties qualifies amoeba as eukaryotes?

A. Ttis unicellular.

B. It needs food for energy.

C. It has a membrane bound nucleus.

D. It is surrounded by a plasma membrane.

Organelle without a cell membrane is

A. Ribosome

B. Golgi apparatus
C. Chloroplast
D. Nucleus.

In desert plants, rate of water loss gets reduced due to the presence of

A. Cuticle
B. Stomata
C. Lignin
D. Suberin.

A cell will swell up if

A. The concentration of water molecules in the cell is higher than the concentration of
water molecules in surrounding medium

B. The concentration of water molecules in surrounding medium is higher than water
molecules concentration in the cell

C. The concentration of water molecules is same in the cell and in the surrounding
medium

D. Concentration of water molecules does not matter.




6 Cell walls of which out of these are not made up of cellulose? 1

A. Bacteria
B. Hydrilla
C. Mango tree
D. Cactus

7 Which one is true regarding Xylem? 1

Vessels are absent in gymnosperms.

Cells of vessels are called vessel membrane.
Tracheid and vessels lack protoplasm.

All of these

Sowp

The following two questions consist of two statements — Assertion (A) and Reason (R).
Answer these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, and R is not the correct explanation of A.
C. Aistrue but R is false.

D. A is false but R is true.

8 Assertion (A): Parenchyma cells help in storage of food. 1

Reason (R): Parenchyma cells are the main seats of photosynthesis.

9 Assertion(A): Plant cell bursts if placed in water. 1

Reason (R): High turgor pressure causes bursting of plant cells.

10 A person takes a concentrated solution of salt, after some time, he starts vomiting. What is 2
the phenomenon responsible for such a situation? Explain.

11| Students to attempt either option A or B. 2

A. Stomata are minute openings found in the epidermis of plant leaves. Each
stoma allows carbon dioxide, oxygen and water vapour to diffuse in and out of
a plant’s internal tissues.

(i) Each stoma is surrounded by a pair of elongated cells. What is this pair of
cells known as?

(ii) Why do desert plants have smaller and fewer stomata as compared to
rainforest plants?

OR

B. Explain the role of epidermis in plants?




12

How are chromatin, chromatid and chromosomes related to each other?

13

(i) (i) Name and define the type of tissue given above.
(i) (ii) Identify X, Y and Z given in the diagram.




14

15.

Apical meristem is a type of tissue that helps plants grow in length. Tina took two
identical potted plants and cut the shoot tip of one of them. she observed if the two
plants grew in height after a week.

shoot tip

shoot tip P

intact

Attempt either subpart A or B.

A. Why are vacuoles absent in meristematic tissue?
OR

B. What happens to the cell formed by meristematic tissue?

C. What was Tina trying to find out about the shoot tip through her
experiment?.
D. Which meristem is responsible for the increase in the girth of stem and root?

Attempt either option A or B.

A. In brief state what happens when

(i) dry apricots are left for sometime in pure water and later transferred to sugar
solution?

(ii) a red blood cell is kept in concentrated saline solution?
(iii) the plasma membrane of a cell breaks down?
(iv) rheo leaves are boiled in water first and then a drop of sugar syrup is put on it?
(v) Golgi apparatus is removed from the cell?
OR
B. (i) Give contribution of Camillo Golgi.

(ii) What is the significance of this discovery ?




16 a) 298 K, 311 Kand 339 K

Section-B

On converting 25°C, 38°C and 66°C to kelvin scale, the correct sequence of
temperature will be

b)298 K, 300 K and338 K
c)273 K, 278 Kand 543 K

d) 298 K, 310 K and338 K

17 | A student heats a beaker containing ice and water. He measures the temperature of

the content of the beaker as a function of time. Which of the following would
correctly represent the result? Justify your choice.

Time (Mmin) ——e
(@) (b)

%]100“(: /
=
--.¥_. g 0°C |j———tl e e

Time (min) —»
©)

Temperature("C)
_
Q
3 3

Time (min) —»
()

18

In the tincture of iodine, find the solute and solvent?

A. alcohol is the solute and iodine is the solvent
B. iodine is the solute and alcohol is the solvent

C. any component can be considered as solute or solvent

D. tincture of iodine is not a solution




19

Which of the statements is incorrect about the physical change?
a) There is no gain or loss of energy.

b)lt is permanent and Irreversible

c)Composition of the substance remains the same

d)No new substance is formed.

20

Which of the following has the highest kinetic energy?

A. Particles of ice at 0°C

B. Particles of water at 0°C

C. Particles of water at 100°C
D. Particles of steam at 100°C

21

Seema visited a Natural Gas Compressing Unit and found that the gas can be
liquefied under specific conditions of temperature and pressure. While sharing her
experience with friends she got confused. Help her to identify the correct set of
conditions.

1) Low temperature, low pressure
2) High temperature, low pressure
3) Low temperature, high pressure
4) High temperature, high pressure

22

Which condition out of the following will increase the evaporation of water?

A. Increase in temperature of water
B. Decrease in temperature of water
C. Less exposed surface area of water
D. Adding common salt to water

The following question consists of two statements — Assertion (A) and Reason (R).
Answer these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, and R is not the correct explanation of A.
C. Aistrue but Ris false.

D. Aisfalse but R is true.




23

Assertion: Germanium is a metalloid.

Reason: They show the properties of both metals and non- metals.

24

A solution has been prepared by mixing 5.6 mL of alcohol with 75 mL of water.
Calculate the percentage (by volume) of alcohol in the solution

25

Attempt either option A or B.

a) Answer the following questions from the graph given below:

(i) Which region contains only ice?

(ii) Which region shows latent heat of vaporization?

(iii) particles in steam at 100 OC (273 K) have more energy as compared to
particles in water at the same temperature. Justify the statement.

26

Give reason for the following statements:

a) Fog shows the tyndall effect.
b) Sugar syrup is a solution.

c) Copper is a metal.




27

Students of class-IX, while performing an experiment in a science lab, mixed 2g iron
fillings and 2g sulphur powder together and divided them into two parts A and B.
Part A was heated strongly while part B was not heated. They performed different
tests to confirm the chemical or physical nature part A and B.

Wire
gauze

Tripod
stand

& W@ -

Sulphur powder Iron filings Heating of iron filings
and sulphur powder

a)Name the compound that we obtained after heated the mixture of part-A
b)Which part will show magnetism?
c)What happened when we add carbon disulphide in part-B?Elaborate.

OR

Identify the gases evolved from parts A and B, when dilute HCl was added to both
parts.




28

In an experimental activity, crushed ice was taken in a beaker. A thermometer is
fitted in such a way that its bulb is thoroughly surrounded by ice. The beaker is now
slowly heated and temperature was regularly noted. Temperature rises gradually
as the heating is continued and becomes constant when ice starts changing into
liquid.

(i)What name is associated with conversion of ice into water?

(i) What specific name is given to the constant temperature?

(iii) What name is given to the heat added to the system at constant temperature?
Define the followings:

(i) Latent heat of vapourisation

(ii) Sublimation

OR

Give reason for the following:

(i) temperature remains constant during the change of state.

(ii) we see water droplets on the outer surface of a glass containing ice-cold water.
(iii)Naphthalene balls disappear with time without leaving any solid.

Compare cotton, honey and oxygen on the basis of density and compressibility.




Section-C

29

Find the time taken by a body of mass 16 kg to come to rest from a uniform
velocity of magnitude 10 m/s, when a force of 4N is applied continously.

a) 20s
b)30s
c)40s

d) 50s

30

Q 30.The gravitational force between two objects is F. If masses of both the objects are
halved without altering the distance between them, then the gravitational force would
become

A. f/4
B. f/2
c. f
D. 2f

The following question consists of two statements — Assertion (A) and Reason (R).
Answer these questions by selecting the appropriate option given below:

A. Both A and R are true, and R is the correct explanation of A.

B. Both A and R are true, and R is not the correct explanation of A.
C. Aistrue but R is false.

D. A is false but R is true.

31

Assertion : An object may acquire acceleration even if it is moving at a constant speed.

Reason : With change in the direction of motion, an object can acquire acceleration

32

Differentiate between distance and displacement.(2points each).




Water sprinkler used for grass lawns begins to rotate as soon as the water is

33
supplied. Explain the principle on which it works.

34 A force of 5 N produces an acceleration of 8 ms-2 on a mass m1 and an acceleration
of 24 ms-2 on a mass m2. What acceleration would the same force provide if both
the masses are tied together.

OR
Give reasons
a) some of the leaves may get detached from tree if it is vigorously shaken.
b) during athletic event high jump athletes are made to fall on sand or cushioned
bed.
35

a) The numerical value of the ratio of displacement to distance is equal to or
less than 1.Justify the statement.

b) identify one example each of the type of motion
i) acceleration is in the direction of motion

ii) acceleration is non uniform.




36

Define centripetal force. .What is the source of centripetal force that a planet
requires to revolve around the Sun? On what factors does that force depend.

37

Define acceleration due to gravity. Derive an expression for acceleration due to
gravity in terms of mass of the earth (M) and universal gravitational constant (G).

38

In the figure below the card is flicked with a push. It was observed that the
card moves ahead while coin falls in glass.

<> L7
o

i ) Give reason for the above observation.
(ii) Name the law involved in this case.

(iii) If the above coin is replaced by a heavy five-rupee coin, what will be your
observation and why?

OR

(iv) If the body is found to be accelerated, is the force acting on it balanced or
unbalanced? Give reason




39

Study the speed-time graph of a body given here and answer the following
questions:

A
Ie A B
. .
£ : :
b : |
2 : :
@ [ |
] |
| I
] I
| I
D \E c
(0] 2 1‘ 16=

Time (§) ——»

a) What type of motion is represented by OA?
(b) What type of motion is represented by AB?
(c) What type of motion is represented by BC?
(d) Find out the acceleration of the body.

(e) Calculate the distance covered in the last 6 seconds.
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(iii) HEREELT T |
() gara: (@) ge:
(M) gen CIRCIRIE
(iv) IUR Teh Frad Ha- T |
(%) wEq: (@) Tda=
() T (%) TeaH,
10. SENfARETRIY Y@FAIel vl §asa fawsa o Sfeay 3w
e e - 3x1=3
(i) Tf: FTRIONTE W + 39+ T e s/ |
() g (@) wmgq
(1) TG, (%) WTHaT
(i)  STeTesh: e F 4+ T A0S TG |
(%) FgH (@) Fe
() F () FH
(iii) Torg AW Tg=, T A d&GH s@we: |
() X + < (@) T + 7Y
(1) & + g (%) & + T
11. 3. TSR Uax: SFed: TEus: StEiiaqarat IR - 4xY=2
(i) I IR AT BET: I T WA |
(i) g=HEE IR G |
(iii) TEar TIq g |
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(iv) I ag GHOT T=STH: qaT STAd, BT Tl

HS[
a4, 9, T4, aa7 |
12. 3. IRqEgEEERIS: N @4 -
(i) "\ (4) ST T |
(i1) (15) STAT: AT TE Faid |
(iii) T&h (79) AT Fiwd |
(iv) sy (81) BTET: IUTRICAT: 3 |
FIA
3. IeEgETERTS: R @3 -
i) ) T%: TH: B
(i) 9=t (3) AT =T |
(i) = a™ (35) SHT: 9= |
(iv) o (90) Rveepr: == |
gus: - g
fdrEeEie, 30 g

13, ANARTS T IRAT AST-THAH STV ThaA Foa -

TIMH: |

4xV5=2

5

A ISR Tga: A {9 | Tehal T W DI e 9 Aqe | I |

3T FTRIT: T SaTef = | Feron: Festarien s - “afe 9@ |7 Te8iH die
;. Hiq 951 ga: WAq | I TERRETe QAR el ARl AR
TEBIH 17 F: qAUT FAT Tq: | qd: dF Ao STAGHTH IT9U FOEU: 28: | 9 T 99
GUST: FAaM | AR SR HTE Teral I TG | FAaT0l P Aghel: TWh-aierd-qa-

U7 T RO Aged | o aumferd Tapet 81 arcrenise @ied: 3 ATER AT Al
AT | =R T ITYA A T AT Aeteh: J&I: o AqTied: fasf | qd:
TH SRR Tl ol FOE SATHAT GO FIHM: SITEI0: T fwied 3 |

[ THFIA WA - (FAeT THETH)

(i) ST {6 JEIE qdET: ?

(i) SRR A foRe STl 2

(iii) FTEURT 9T e 1 T AR F T 2
I1. qUETeRIA STRA - (el THEaH)

. o o o
(1)  SIRIT: FESIQIEN TohH AT ?

(i) e &: €W 2

2xVs6=1

2x1=2
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(iii) STRIOT TLT At fore 3Teaiq ?
II1. &, e Su - 1x2=2
(i) ‘e 3 PRATSR ue TR 2
(i)  “aTereh: g=I:° 37 T yeH Ry ?
CREN
3. PSRy I -
(1) oy zfa 93 erese TR ue ugem 2
(ii) “s1T%y S=IRat mrera: A w17 o framde Ry 2
14. AN TN ISET UST-THF, ST Fha ored - 5
VI T GoaT YR AR
TAEIEE: Fae Bl e ael 3 3: |
SERIETI: &1 Jadi gwe FHeatsran
FATATY FAHROTHG, Yol T O ||
g ks vt era: v ek A ok
M T TRASATCIR TR T AL Fo=e |
[. THUeH I -(FAT TH5TH) 2xY5=1
()  =eIEUT AT e TS 2
(i) G e Yo 3T 2
(iii) v forquo foRe 2
I1. YUETeRIA SR - (Fad THEIH) 2x1=2
(i) o qwor fope et 2
(i) =euETs R o Ay o 2
(iii) =< T foes: sMigat: ?
II1. 3. FASgERe Su - 2x1=2
() | T Tk TAEueH qEe T 2
(i) “AET TEEAIEIRT JATSd qau: g9 |7 o R o 2
T
M. FSRIIERY I - 1x2=2
(i) vfem 30 e forvorag foRe 2
(i) ‘sRre: 30 Ue foemag qerer o TRpeRE 2
15. FNTATERT AT IFSAT TT-AHHH IR0 G fore - 5
Taq: - (S feaH T ST Faa: €gT) Sigad, SFFad | et S
ST AR TSI | AT HLOTH hedTITIE WAl | SR0T eI
UM AT |
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(RTR-FaT=di T A=Ay )
Tqq: - HAYd: 39 @ | (Aiek Ul ge Seel evaT & TN Yearai?
e - (ot Fde) werrt | HereHsl HIHee: T Us: |
YA9: - 3T WIHIRIG: TG | heHeTh QI Hadrstd qiemaq?
(WTHTRITE: SRR ST AT )
TG - (FUUTHH) STad: | 9o IR 5 Uil War?
qqq: - (S FER) T i S | I | SR | e ST SIREY

TATHAT: ;|
THENE: - =J U Ge] heH TASHE? S29 TF hA01 =0 ITANT: S |
Tq: - 9 Fard 9ar |
HHTEE: - I dle Jarard | Aeddi TRAATGAT Wenld: Aleargiy: | Wa=l: shadi
@I |

(I ORI TaTIR SO 3UAT)

[. TEHUeH I - (FaT UHETH) 2xY5=1
(i) YHERTE: gAART Hed O™l YN ?
(i) SATETETI: STHT: FRIELT AR ST ?
(iii) HaTSH=! &: 3ff& ?

I1. Ui STRA -(Fae THETH) 2x1=2
(i) RIEST AU FHEIUTIE 9ard ?
(ii) URTALZ : ST 2
(iii) TATY: e AT SISV TATEe: A& ?

II1. &, FeaR U - 2x1=2

(i) ‘Fefr 3 FRamTues wque Arearnq e e ?

(ii) ‘T’ = I TATFIGH AR foh Tgehas ?

CRC)|

M. FSRIIERY I - 2x1=2
(1) ‘R AeaTgy: AT JEAT: foRivoraE Ry 2
(i) 3 WTHIEITE: ANTG: | o1 #qug [hH 2

16. @FATRT YA TAFRATOT F4 | 5x1=5
(i) = qEet: ARGET: |
(i) gHsTY: AAE: 9<h: ST |
(iii) AHTE J@UTET: T faferd: |
(iv) T HiH: TARRA TTE |
(v) WFTRRR qrecii g mmes Ry 1 |
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17. 3. HSSEIA: TYRQAUI Rer e s TR 39: e - 4xY5=2
FRISTY g FETERE qai R |
eI AT I wefe: goiaida: | |

F=g: - (FAT) GE: 9E (A) it gaTy (i) EINE]
(@) (iii) guiaf¥a: s (iv) ST A |
I
1. AR AT AT Feradl NaaeI i I3 -
TG AT ST A g e a=a |
== waEm v =af
qrare: - & AL S (i) AT T (i) AT T U1 |
T e fRfd: (iii) At T T (iv) _e: WA |
HSS[T - e, o, =, TiRam |
18. TRy TaFgRer Sard e e - 4x1=4
(i) Hm JSIH Tellohgd gaar |
() T (@) = SUREL (&) T
(ii) a?[tﬂraﬁm‘gﬁr: fafra: |
(%) T (@) ferfean (M) g (%) afdan
(iii) TA: We: 9T I R SUMs: S |
(F) A @) 7 QWRIESSE CEIRES
(iv) giE=t for @ |
(F) =vrEr (@) I (M) TN (%) ST
19. AfRETRT Reaea R 19 e - 8xVs=4
QX HEIAT AN (1) T I | UeRal Ue (i) _ T U FAmT SR | |
(iii) I AT I | THTT TF TRl HEETE (iv) | Tqg Eedn
T A SEER: A | ThaAR G: G+ FTEIUREH @l iRl (v) rerdaT | |

gfcrsrdt Tieul staed - “% 94! BRRA (vi) _ %, STEMAT 38 Ug: |at A 17 3T | uaq
(vii) agﬁmaﬁwmlmq@ﬁﬁwm “T! 318 TRl A
=i | fafera: g a=n: udert At | eFas an ey smem g9 (vidi) AT |

oo — | A, WA, qTH, T, qHOH, qH:, aAardt, e

% 3% 3% 9k ke e Ak
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TH. U.UE. 3. U. dr gfeeis Tho

fawg- g4 (2025-26)

Fa1-9

AT 3 U

quIt : 80

AT fAder:
YUY T H IR WS §- WS 'H,W,7T 3R U 3R Uil &1 $ot T 16 2|
Tl o JHt STUTT & IR HHR: T 1Y ferfau|

ITRYETT H IR &b 1Y ge) A G iy, s uy o § g 1
It W SifHard B

TS (3fufdd dy)
1. AT I1eTer &l ea=qde qfeu 3R 3q W
TR UeaAt o 3R SIfSIT.

(7)

AA 3 W & g a6 HET fauR & g, ar =7 fauR gueh & 3o Ffed & deeT oY oo
el A A 37 i I o S § 3R gH el 91 Are ] §AH Ig ISrar YeT ol ¢ foh el

A 9g gt AT giarl 3 g AT &1 3R of ATd &, @I RE-aRg T HoUaATl, ATRITAAT Sl RIS,
3TSTEIAT FT T 1T I&AT g1 3o AORT H TPRIcHBAT 8l &1 T &7 Nd 8, §AR 3eT IRTe-a1Y,

Riar S a9 a7 X &1 @il AT A TRAT A g7 W AT A &1 S8 Jears A8 glal, W A
G §H AT 3R 319a T3 & g gld o 81 08 TRl @ ge &l a9 Se? gART Hed 3R
So6l # ZAT TGN, o & BY THT TUY T W ¥ W WG 3R O T e § Far dredt| 0 &
3T & T A @ Wiell o BIse WE W @ R @1 SiiaeT A 3redT-gd aTd gia Wt 8 U a1t &
R A AR HA H 3G9 Hel B TG S FS IO §m%,maﬁﬁ@%ﬁmﬁ@r




| FA T ITed 919 TS 3T, aF R 3T R 3T 91T F1 TI§ L T HIHAA FH| I T§
faR 9 & o @rerl #3719 e & Ty Ig J fRar giar, df ®Ra ag a1 31 &), S 39
mﬂﬁ%ﬁ?ﬁg@ﬁaﬁm@@?ﬁlngﬁmﬁﬁw‘vg@mmaﬁﬁgmdﬁdqmﬁw
Aiepr 18T [FAerar|

Teh ITe0d 91 T S8 &8 Sl dTd el 915, 3H TG el d §AR Ao H enifd 3mualt 3R iy =9 &
ARRIcHS AART Y STTg AT Fef| IR-TR & 33T A 3ART @eT glar & g3em 3R gART A i
g S|

(i) =T TR g foraehT 3R of S godrar Year &d 87 (1)

() IFET (@) TAAT

IEGIS) (&) 37t

(i) FF-T AR AR 3ex RN AR ar R 719 3cqea W §? (1)
(F) STaATCHS (@) fraRcA®

(31) HHRTcHR (&) TPRIcHH

(i) fAFAfaf@d HU TU RO B FYdS Tlel | ISP a6 faU TE [adhed & ¥ g el [dded FAdb [QIRaU -
HAT(A)GHRT FeT QT &1 GehaT &

HRUNR)eTY o TaaRT HR X TAUT ARIcHS [TaRT T 7ol H T o S |

(@) HYT (A) TUT PRI (R) SHI TAd 8

@) HYF (A) TTeId ©, Afb RN (R) TSI 2

(M) BYT (A) Tet 8, Afb- HRUI (R) IHD! TTeld HRSHAT BT g |

(®) BY (A) TUT HRUT (R) ST B! & TUT BRUT (R) HUF (A) B! et AR BT

(iv) JE® F AT FH T Aol & o FHr arT Fr g2 ) (1)
(V) & F7T W] Hel I G TG AMGT? (2) (1)

@) fFafafa e #) eryde ufeu ok 39 R snutfa g & s difvml  (7)

= i &) Jam &R fad &1 Yedl § | 9 $1S saferd oita- § Hi$A1gal | 91-aR ghar 8, af 39 fpeht
F A1t Bt ATIRIFAr U gH gidl 7, Ol SUP g SN WM B AT JA 3R 3%

FRTEYor o IS HERIdT ®% | R T=T O U1 Srcdd B3 81 8 WIH-Ugar aren sfad

g1 i 718 81 "par 3R 7 &) frrar #1 gra1 37 aran sufaa = frm giar 31 frmar wea
TH-TUH B! 1| WY ard, Argstivdr, g™ A8 31ie; i a9 & I saza® <rd =81
8, I Hdl 91d g arelt, WY 91d He aran, fawdia uikfRufoadl § wrew sem ararn gt =i = 8
Tl g1 A Y = = i Bt wedl gar o1 UITd 9a11 8, T $ET & TR Bl g B ¢l g
TUR Sita &1 U1l FURT 7 991 91T, 39% Y o8 ¥ e ok Saat anfa a4 g®



ERGUELREY
(i) UP HfaT o) frga! aarer Igdl 82

() fopdt ot fir ot
(@) TagE fw FI
@M I= 9t
(9) TTCHIINGT B

(i) BRI S qUT SR D! HFYdS uleu| I d1G fGU T fadwedl § 9§ T Hal fddbed ga fafae -

HY (A): ARATHT DT SCGATHT T AT Hehl 6 |
PR (R): FALT A 57 X IR R A= A I @A

(@) HYT (A) IYUT PRI (R) ST 7Ted B

@) HYT (A) TAd 8, Al HRUT (R) T 2

(M) BYT (A) Tet 8, Afb- HRUI (R) IHD! TTeld HRSHAT BT ¢ |
(©) HY (A) TUT HRUT (R) S gl & TUT HRUT (R) HUT (A) BT ot AT BT 5

(i) for fag A W= fir &t Fedt gar &Y Hifd sarT @ 2

() IAPAR T A

(@) gt yTG fgadt =

UEIEICRICSE!

(9) ST XHR U41G A

(iv)T=n fir faudia uffRufaal & s swar g 2 (2)
(v) T & TG DI ¥ DI Hal 82(2)

Hs-T (ATIGTIN® STHT )

2 218G, -9¢ W 3R feheal &I 9=t & 3R Tf@U-(1X2=2)

YR & 370 3R] BT HIg AT Aol UTRGId T UG shear a1 2reg?
(i) % WA 3R e qul-Tqg a1 Hedrd |2

I CRUE A LR R | RE D) - —— CERCIGIE]

3. HTFAR-HAATTAF R 3T Arafaf@a & & fredt af weal & e faf@e: (1x2=2)

(i) STRYT HRd THI OF 841 O 3R ARIw1 &H1 & FHewd, a1 39 90f & SR

ST |



(i) FrafaRad wrsal # Ifd WM W ARG HT TART HIToE-HETS, STeAT
(iii) FofaRad Trsal & Ifed WM IR SR &1 TN Sifod-Tary, e
4.ffaf@a & @ el IR At & 31 faf@v-(1X4=4)

(i)' 3MTe U | 1 U eg ferfay|
(ii) "To-1T Veg H A TG 3T HIQ|
1) J—— Td TG & ARY H SR T ek a1 ¢ |

(iv) B I GRT Xeg FIST|

(v) e 2rsq T T Id Wsq 31T DifoTT|

5. frarfaf@a & ¥ W o 3muTRa et et st & 3w faf@u-(1x4=4)
(i) faw T wreal H WY PIfSTY-seT+3eT, gr+ser

(ii) 3T 7Y wreq} 1 WfY-fawde Sifve-wda seanfe

(iil) TR Y F fpam 9g 87

D — & A I g a1d fAwR =1 T T B

6.faxTe fgar oX 3maTRa foheel af Ieat & 3R fafde-,(2)
()fafFafaa aa & 3Ra e Reat w1 g3 fifso-

J9 AN T H Teh dlehT clehl T a7

(iNfaeafai@d area & ygad favra Riegat & a1 faf@e-
A T T ST3AT ATH T Teh AT ATcdTige HT Hehrera U
(iii) ! farH RrEst &1 1 faf@u|

7.3 & YR TR qTe-He R uTia Faferfad uelf & 3 fst b Ul & IR foriau-(3)

Ao area & faraafestas aeg A sgfeu-

HITATAT U clleh Tl IAT|

)37 o 3TUR 9T aTFT A, Id8U-

ST THAOT & 1|



ii1)37 & 3R R 1T & fhdet A 82
iv)TSTeT arerat & 2fenT cerd &Y, a8l 37 & 3TN 9T shieT &7 arery g gar &7

TS - T (UT6dYEdh Ud Ueh UTGTYIh)

8. fufafea ufed meiw wR sneriRd ush & I8t IR ard fasey (1x5=5)

gHT |
3mem oA foh gq@ER T fohell IoT @ Ueh AR HEATAAIGT T ©1F 30 ged H o JH Tl S|

gH JHYA Thal & AU 3 W, FIR A g0 A

3R U TS AAMY 1 Re T ST R 7T 767 g3 g@l foet o A 3=l rfafa-gewt
AEH T a0 7 & a1 @1 §H I GisT FF off 3R gee o @1 TWRd-aR & fore 3%
fSig T gH ¢ o S Yo &, T61 O a1 IR gHa Y GIUeT o HISleT T ol T IRAT TeTeT
3R Tl @ g et REm| AR SehR &1 I7 Y R §, oaw 3w g e & fow a9
9¢| gEh U STg HgsNel faers &1 ag e g3 &7 I S IR’ oA, S A fer g1d 3N g
IFe TUST h BISH S| W JAS TET 781 har|der &t T gog A 7319 hgl, “H i &

HUS AT IIgdl él

(i).aMUeX & ATl i fohgehT aIR#AT fAe?
() o

(@) faeR

(3n) #Hrer

(6) A5 & IS G

(i.yor@er o 3fafy & afy & Far Rwmr?
() =i

(@) Raar

(1) sAieHr

(&) THAT

(iii). oGP & TchR HT LT BR 4T AT?
() QAT RTAT

(@) 5 TR glear A T3 Harem

(@) Fastar e

(&) ST @ HIg AEh

(iv) R feeT hr gag Al @ e & = Fgr?
() O A HYS & & v
(@) MU FLa=T & T



@) R e & faw
() 317 ¥ HIS @l

(V) ol@eh &l 3fafd & Far 3 oA

()M gE et =relr Swam
(@)Y TR &1 Terr SUem
(NI ST ARIM . ST
(a)3rfafd Fefr g S

9. fFfaRad Uil & IR W 25-20 Tsal H ferfaT: (2x 3 =6)
(i) SUGT GTel Pl ST I goFhl-garhl i Ig IAT?
(i) 31y & 31firep fom ¥ o IR e & SgdeR W a1 URadH 3T 2

(iii) STITATSAT T AT AT H AT U Taarar FT FRASBR ToiT [T 3T SH HUT H A & 7THSTI 3R
IGic

10. Frafafad ufda e R snetd usl & gl SR ard f[dwed gl (1x5=5)

UHT ofTel I3 7] h3e] Y

IR T¥aTS] TES3T AT AT 5 e |

ST Bl STITeT h3 oY & R el <X |

oArerg v Y A anfeig g o 7 X
ATHCT helle foeliers] Fere He] o

g Mdery Goig ¥ Heig g3 o T &

(VSR & T IR 1 QT S @1 87
() TTT

(@) 4Pc

() v

CERI

()32 fpgepT BedTur fomT We-HTa & B a7
(@) 3THRT BT

() Riféra o1

(T) Sfga Tgel b1

(@) 374 A P13 e

(iif) TR # foram 31gd AN b 91 b1 ]2
() &




(@) dH
WEIN
(|) urd

(iv) 39 T § BHid fae AT $R 36 82
(P) $RaT I

(HE)AFd =T

(1) % 1

(9) 377 At &

(v)anTae o gareT foraeh forw fohar 872
(@)W & fow

(@) & ferw

() TaT Hfa & forw

(¥) 37T igar & forw

11 fofafea uslf & IR TIHT 25-30 sl H forfaT: (2 x3=6)
(i) < AT, AT, T & e & gl & A & WY S|
(ii) STeTEIT &haol shr T&T HA &1 AT 8T A ATelT?

(iif) GER Fe T SR B ST 3 oY d W el e¥ 7 9fFd &1 3 Tose Hifsre|”

12. R UISY-THF TG o o Ul T § /57 @b IR AU 50-60 Vsl A I faRaui( 3 x 2= 6)

(i) AFGAR Tgol ST dTel Sl AT el ¥ H TSl dled FT H ol FI1 ART A?3q st H
fohg ool GoreT MR HT IT TeAcT §72

(ii) el RO @ ogeh o Refodr fAdree & AT U & 3R @1 Aoy foar?

(iii)  TAree] UTS & ATETH @ AfQent o q[-uferal & fohel HTaTI3iT T HgHH Fohar g2 el cliet 9T FTEIT
g1l STfeiT |

GE-9 RIIHD Ta-)



13. Fgfoied & ¥ /e oo fava W Hovd fdgsil & YR TRIHT 120 sal H 3ff=dg fafay |
5)

(i) 9T OoIgy] : T Phaich
ST Tolgy] BT 3, T TOIGR] & HRUT, » TEHT BT U, ~TTel FOIGY] 6 & SU™
(ii) - U &1 daddl dediR

I et » BRE B8 H1 YA, HRE B8 & gUIHE,» UIP® SRR B HTIRI ]

(ifi) 5T & o AT I AT Al

e 7 g fr wor fRFEAd iR afFd maraew A @ s e e R w@Ared
AT

14,3 ST 3RIST, Reel & FHarft €| e Iy fam &1 9o s91d gT dore # = arer 3u+ i
CARCERNITCL (5)

3Yar
30 §S HTE BT Y=9d1E ¢d U U U fAIRa b 31oh ANIGRM o HIRUT &1 3170 TRieT & Jud S|

15. eTTRI # ¢fthes W Pt THw1 WR o f o1 Mo} arg & 60 Wsal H fafaul  (5)
3ryar

Hed SHTE! P HRUT U] IR &Y 81 aTell debaith! & et H &l gof! safaadl &1 Tare ferdll. (5)
16.F7 guia fifaw: (5)






	(iii) नर हो न निराश करो मन को

